# District School Board of Pasco County Bid Recommendation

Bid Title	Grounds Maintenance – District Office & FHS	Number of Vendors Notified	324
Bid Number	13-034-AF	Number of Bids Distributed	28
Date Solicited	August 24, 2012	Number of Vendors Bidding	5
<b>Date Opened</b>	September 21, 2012	Number of Formal "No Bid" Responses	0
Date Board Presentation	October 2, 2012	Funding Source	General
<b>Total Savings</b>	\$15,767.75	Grand Total of Bid	<b>Estimated</b> \$59,198.00

#### Recommendation:

Recommend acceptance of bid from Landworks, LLC as noted on the attached tabulation sheet as lowest and best, responsive and responsible bid for Project A and Project B meeting written specifications.

#### **Term of Contract:**

This bid is for Grounds Maintenance for Project A: District Office Complex and Project B: Fivay High School. The grand total price for each project is an estimate only; unit prices will prevail. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first year of the contract shall be effective from October 4, 2012 through October 3, 2013.

#### **Notations and Exceptions:**

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by averaging all bids submitted and deducting the awarded vendor's bid.

#### Bids Evaluated By:

Mark Fox, Acting Director, Maintenance and Facilities Services

#### Bids Prepared By:

Amy Flack, Buyer, Purchasing Department

#### Reviewed and Authorized By:

Michael J. Woodall, CPPO, Purchasing Agent, Purchasing Department

Date/Time: September 26, 2012 08:26:00

Date of	Date of Opening: September 21, 2012 @ 2:30 PM		American Lawn & Landscape		A Team Lawn Service, Inc.		Baileys Lawn Care Service, Inc.	
Bid Tit	le: Grounds Maintenance - D.O. / FHS	6188 3rd A	venue South	8610 Jolly	Roger Drive	34742 Hil	34742 Hillock Drive	
Bid #:	13-034-AF	St. Petersbu	rg, FL 33707	Hudson	, FL 34667	Dade City,	FL 33523	
Pre-Bio	1: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM							
	**October 2, 2012 Board Meeting**							
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
	Project A: D.O. Complex	No	Bid					
38	Mowing, Weeding & String Trimming			\$500.00	\$19,000.00	\$545.00	\$20,710.00	
38	Edging			\$150.00	\$5,700.00	\$285.00	\$10,830.00	
1	Hedge Trimming (annual basis)			\$1,000.00**	\$12,000.00	\$1,400.00	\$1,400.00	
2	Pruning (Palms)			\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	
1	Pruning (non-Palms)			\$2,000.00	\$2,000.00	\$560.00	\$560.00	
2	Mulching			\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	
	Grand Total:	No	Bid	\$50,	700.00	\$41,50	00.00	
	Additional Mulch, Per Cubic Yard Price:			\$50.00		\$50	.00	
Cost for 10' x 10' Bedding Area:			T	\$5	50.00	\$75	.00	

		Evolve Pr	ofessional Landscape			
Date of	f Opening: September 21, 2012 @ 2:30 PM	Ma	nagement, LLC	Landwork, LLC		
Bid Title: Grounds Maintenance - D.O. / FHS		I	PO Box 2362	4524 Northa	mpton Drive	
Bid #:	Bid #: 13-034-AF		rtow, FL 33831	New Port Ric	hey, FL 34653	
Pre-Bi	Pre-Bid: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM					
	**October 2, 2012 Board Meeting**					
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	
	Project A: D.O. Complex					
38	Mowing, Weeding & String Trimming	\$763.21	\$29,002.00 / \$29,001.98*	\$560.00	\$21,280.00	
38	Edging	\$21.00	\$798.00	\$60.00	\$2,280.00	
1	Hedge Trimming (annual basis)	\$19,110.00	\$19,110.00	\$199.00	\$199.00	
2	Pruning (Palms)	\$1,500.00	\$3,000.00	\$650.00	\$1,300.00	
1	Pruning (non-Palms)	\$90.00	\$90.00	\$250.00	\$250.00	
2	Mulching	\$4,000.00	\$8,000.00	\$4,320.00	\$8,640.00	
	Grand Total:	\$60,00	0.00 / \$59,999.98*	\$33,9	49.00	
	Additional Mulch, Per Cubic Yard Price:		\$100.00	\$48	3.00	
Cost for 10' x 10' Bedding Area:		\$100.00		\$10.00		
	-					

Date of	f Opening: September 21, 2012 @ 2:30 PM	American Law	n & Landscape	A Team Lav	wn Service, Inc.	Baileys Lawn C	are Service, Inc.
Bid Tit	le: Grounds Maintenance - D.O. / FHS	6188 3rd Avenue South		8610 Jolly Roger Drive		34742 Hillock Drive	
Bid #:	Bid #: 13-034-AF		St. Petersburg, FL 33707		n, FL 34667	Dade City	, FL 33523
Pre-Bio	d: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM						
	**October 2, 2012 Board Meeting**						
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	Project B: FHS						
38	Mowing, Weeding & String Trimming	\$550.00	\$20,900.00	\$400.00	\$15,200.00	\$500.00	\$19,000.00
38	Edging	\$100.00	\$3,800.00	\$100.00	\$3,800.00	\$150.00	\$5,700.00
1	Hedge Trimming (annual basis)	\$1,200.00	\$1,200.00	\$425.00**	\$5,100.00	\$25.00	\$25.00
2	Pruning (Palms)	\$5.00	\$10.00	No Charge	No Charge	\$0.00	\$0.00
1	Pruning (non-Palms)	\$5.00	\$5.00	\$300.00	\$300.00	\$25.00	\$25.00
2	Mulching	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$1,200.00	\$2,400.00
	Grand Total:	\$30,9	15.00	\$30	,400.00	\$27,1	50.00
	Additional Mulch, Per Cubic Yard Price:	\$40.00 \$40.00		\$50.00 \$50.00		\$50.00 \$50.00	
	Cost for 10' x 10' Bedding Area:						
	*Vendor calculation error						
	**Vendor's monthly charge for Hedge Trimming						

		Evolve Pro	ofessional Landscape		
Date of Opening: September 21, 2012 @ 2:30 PM		Management, LLC		Landwork, LLC	
Bid Title: Grounds Maintenance - D.O. / FHS		P	O Box 2362	4524 Northa	ampton Drive
Bid #: 1	13-034-AF	Bar	tow, FL 33831	New Port Ric	hey, FL 34653
Pre-Bio	l: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM				
	**October 2, 2012 Board Meeting**				
Qty	Description	Unit Price	Total Price	Unit Price	Total Price
	Project B: FHS		No Bid		
	1 Toject D. 1 Hg		110 Dia		
38	Mowing, Weeding & String Trimming			\$360.00	\$13,680.00
38	Edging			\$40.00	\$1,520.00
1	Hedge Trimming (annual basis)			\$199.00	\$199.00
2	Pruning (Palms)			\$0.00	\$0.00
1	Pruning (non-Palms)			\$250.00	\$250.00
2	Mulching			\$4,800.00	\$9,600.00
	Grand Total:		No Bid	\$25,2	249.00
	Additional Mulch, Per Cubic Yard Price:			\$48	3.00
	Cost for 10' x 10' Bedding Area:			\$10	0.00
	*Vendor calculation error				
	**Vendor's monthly charge for Hedge Trimming				

Date of	Date of Opening: September 21, 2012 @ 2:30 PM		American Lawn & Landscape		A Team Lawn Service, Inc.		Baileys Lawn Care Service, Inc.	
Bid Tit	le: Grounds Maintenance - D.O. / FHS	6188 3rd A	venue South	8610 Jolly	Roger Drive	34742 Hil	34742 Hillock Drive	
Bid #:	13-034-AF	St. Petersbu	rg, FL 33707	Hudson	, FL 34667	Dade City,	FL 33523	
Pre-Bio	1: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM							
	**October 2, 2012 Board Meeting**							
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
	Project A: D.O. Complex	No	Bid					
38	Mowing, Weeding & String Trimming			\$500.00	\$19,000.00	\$545.00	\$20,710.00	
38	Edging			\$150.00	\$5,700.00	\$285.00	\$10,830.00	
1	Hedge Trimming (annual basis)			\$1,000.00**	\$12,000.00	\$1,400.00	\$1,400.00	
2	Pruning (Palms)			\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	
1	Pruning (non-Palms)			\$2,000.00	\$2,000.00	\$560.00	\$560.00	
2	Mulching			\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	
	Grand Total:	No	Bid	\$50,	700.00	\$41,50	00.00	
	Additional Mulch, Per Cubic Yard Price:			\$50.00		\$50	.00	
Cost for 10' x 10' Bedding Area:			T	\$5	50.00	\$75	.00	

		Evolve Pr	ofessional Landscape			
Date of	f Opening: September 21, 2012 @ 2:30 PM	Ma	nagement, LLC	Landwork, LLC		
Bid Title: Grounds Maintenance - D.O. / FHS		I	PO Box 2362	4524 Northa	mpton Drive	
Bid #:	Bid #: 13-034-AF		rtow, FL 33831	New Port Ric	hey, FL 34653	
Pre-Bi	Pre-Bid: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM					
	**October 2, 2012 Board Meeting**					
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	
	Project A: D.O. Complex					
38	Mowing, Weeding & String Trimming	\$763.21	\$29,002.00 / \$29,001.98*	\$560.00	\$21,280.00	
38	Edging	\$21.00	\$798.00	\$60.00	\$2,280.00	
1	Hedge Trimming (annual basis)	\$19,110.00	\$19,110.00	\$199.00	\$199.00	
2	Pruning (Palms)	\$1,500.00	\$3,000.00	\$650.00	\$1,300.00	
1	Pruning (non-Palms)	\$90.00	\$90.00	\$250.00	\$250.00	
2	Mulching	\$4,000.00	\$8,000.00	\$4,320.00	\$8,640.00	
	Grand Total:	\$60,00	0.00 / \$59,999.98*	\$33,9	49.00	
	Additional Mulch, Per Cubic Yard Price:		\$100.00	\$48	3.00	
Cost for 10' x 10' Bedding Area:		\$100.00		\$10.00		
	-					

Date of	f Opening: September 21, 2012 @ 2:30 PM	American Law	n & Landscape	A Team Lav	wn Service, Inc.	Baileys Lawn C	are Service, Inc.
Bid Tit	le: Grounds Maintenance - D.O. / FHS	6188 3rd Avenue South		8610 Jolly Roger Drive		34742 Hillock Drive	
Bid #:	Bid #: 13-034-AF		St. Petersburg, FL 33707		n, FL 34667	Dade City	, FL 33523
Pre-Bio	d: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM						
	**October 2, 2012 Board Meeting**						
Qty	Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	Project B: FHS						
38	Mowing, Weeding & String Trimming	\$550.00	\$20,900.00	\$400.00	\$15,200.00	\$500.00	\$19,000.00
38	Edging	\$100.00	\$3,800.00	\$100.00	\$3,800.00	\$150.00	\$5,700.00
1	Hedge Trimming (annual basis)	\$1,200.00	\$1,200.00	\$425.00**	\$5,100.00	\$25.00	\$25.00
2	Pruning (Palms)	\$5.00	\$10.00	No Charge	No Charge	\$0.00	\$0.00
1	Pruning (non-Palms)	\$5.00	\$5.00	\$300.00	\$300.00	\$25.00	\$25.00
2	Mulching	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$1,200.00	\$2,400.00
	Grand Total:	\$30,9	15.00	\$30	,400.00	\$27,1	50.00
	Additional Mulch, Per Cubic Yard Price:	\$40.00 \$40.00		\$50.00 \$50.00		\$50.00 \$50.00	
	Cost for 10' x 10' Bedding Area:						
	*Vendor calculation error						
	**Vendor's monthly charge for Hedge Trimming						

		Evolve Pro	ofessional Landscape		
Date of Opening: September 21, 2012 @ 2:30 PM		Management, LLC		Landwork, LLC	
Bid Title: Grounds Maintenance - D.O. / FHS		P	O Box 2362	4524 Northa	ampton Drive
Bid #: 1	13-034-AF	Bar	tow, FL 33831	New Port Ric	hey, FL 34653
Pre-Bio	l: D.O. 9/7/12 & FHS 9/10/12 @ 9:00 AM				
	**October 2, 2012 Board Meeting**				
Qty	Description	Unit Price	Total Price	Unit Price	Total Price
	Project B: FHS		No Bid		
	1 Toject D. 1 Hg		110 Dia		
38	Mowing, Weeding & String Trimming			\$360.00	\$13,680.00
38	Edging			\$40.00	\$1,520.00
1	Hedge Trimming (annual basis)			\$199.00	\$199.00
2	Pruning (Palms)			\$0.00	\$0.00
1	Pruning (non-Palms)			\$250.00	\$250.00
2	Mulching			\$4,800.00	\$9,600.00
	Grand Total:		No Bid	\$25,2	249.00
	Additional Mulch, Per Cubic Yard Price:			\$48	3.00
	Cost for 10' x 10' Bedding Area:			\$10	0.00
	*Vendor calculation error				
	**Vendor's monthly charge for Hedge Trimming				